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Problem quickname: 9443

b

Fill in the missing numbers.

a) 20 + =400 b) 31 +
d) 63 + = 500 e) 77+
g) 88 + = 600 h) 36 +
j) 92 + = 800
27)
Fill in the missing numbers.
a) 311 + = 1000 b) 838 +
d) 764 + = 5000 e) 26 +
g) 868 + = 5000 h) 536 +
j) 262 + = 8000
ii)
Fill in the missing numbers.
a) 4+ = 60 b) 4 4
e) 9+ =80 f) 5+
i) 3+ =170 j) 6 +
47)
Fill in the missing numbers.
a) 200 + = 8000 b) 300 +
d) 600 + = 2000 e) 300 +
g) 800 + = 1000 h) 300 +
j) 500 + = 8000
Good Luck!
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= 200 )89+ =700
= 700 )84+ =500
= 300 )22+ =400
— 6000 ¢) 2644+ = 4000
= 4000 f) 334+ = 6000
= 8000 i) 6574+ = 2000
= 80 )64+ =80 )8+ =30
g5+ =50 h) 3+ =280
— 7000 ¢) 500+ = 6000
= 6000 £) 300+ = 5000
— 8000 i) 6004+ = 8000
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